Bid Rfq 139580 Auction 141-26 Commodity Processing for Student Nutrition Services Auction **ACTIVE** Title (SNS) Num Status

Contract Evaluation Codes

3TQ - Taste quality of product unacceptable

1NL - Not low when unit price is calculated

4NS - Not to specifications

NA - No Award

8PS - Failed to provide product sample

Exhibit A

			*CONFIDENTIAL								
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price			
1	Υ		(USDA-P) BEEF FINGER, FULLY COOKED CHOPPED	1,500	CS	TYSON PREPARED FOODS INC	60.83	91,245.00			
	N		BEEF, WHOLE GRAIN RICH BREADING, LESS THAN			GOODMAN FOOD PRODUCTS	71.46	107,190.00			
	N		BEEF FINGER, FULLY COOKED CHOPPED BEEF,	500	CS	GOODMAN FOOD PRODUCTS	130.85	65,425.00			
	Υ		WHOLE GRAIN RICH BREADING. LESS THAN 400			TYSON PREPARED FOODS INC	137.52	68,760.00			
2	N	3TQ	(USDA-P) BEEF PATTY, BREADED, PRE-COOKED,	1,000	CS	GOODMAN FOOD PRODUCTS	73.19	73,190.00			
	N	3TQ	BREADING MUST CONTAIN 51% WHOLE GRAIN,			JTM PROVISIONS CO INC	79.48	79,480.00			
	Υ		MUST MEET 2 OZ MEAT/MEAT ALTERNATE AND 1			TYSON PREPARED FOODS INC	95.29	95,290.00			
	Υ		BEEF PATTY, BREADED, PRE-COOKED, BREADING	500	CS	TYSON PREPARED FOODS INC	106.39	53,195.00			
	N		MUST CONTAIN 51% WHOLE GRAIN, MUST MEET 2			GOODMAN FOOD PRODUCTS	136.71	68,355.00			
	N		OZ MEAT/MEAT ALTERNATE AND 1 GRAIN, MUST			JTM PROVISIONS CO INC	155.03	77,515.00			
3	N	3TQ	(USDA-P) FULLY COOKED SEASONED 100% BEEF	4,000	CS	TYSON PREPARED FOODS INC	36.88	147,520.00			
	N	3TQ	BURGER, BULK PACK. MUST CREDIT AS 2M/MA,			INTEGRATED FOOD SERVICE	48.00	192,000.00			
	N	3TQ	LESS THAN 260 MG SODIUM			JTM PROVISIONS CO INC	49.20	196,800.00			
	Υ					GOODMAN FOOD PRODUCTS	63.43	253,720.00			
	N	3TQ	FULLY COOKED SEASONED 100% BEEF BURGER,	1,000	CS	INTEGRATED FOOD SERVICE	112.00	112,000.00			
	N	3TQ	BULK PACK, MUST CREDIT AS 2M/MA, LESS THAN			TYSON PREPARED FOODS INC	129.52	129,520.00			
	Y		260 MG SODIUM			GOODMAN FOOD PRODUCTS	152.53	152,530.00			
	N	3TQ				JTM PROVISIONS CO INC	187.56	187,560.00			
4	N	1NL	(USDA-P) PATTY, RIB SHAPED. MUST PROVIDE AT	300 CS	CS	TYSON PREPARED FOODS INC	39.03	11,709.00			
	Υ		LEAST A 2M/MA			GOODMAN FOOD PRODUCTS	56.38	16,914.00			
	N	1NL				JTM PROVISIONS CO INC	79.18	23,754.00			
	N	1NL				INTEGRATED FOOD SERVICE	102.26				
	Υ		PATTY, RIB SHAPED. MUST PROVIDE AT LEAST A	100	CS	GOODMAN FOOD PRODUCTS	0.00	0.00			
	N	1NL	2M/MA			TYSON PREPARED FOODS INC	88.22	8,822.00			
	N	1NL				JTM PROVISIONS CO INC	114.13	11,413.00			
	N	1NL				INTEGRATED FOOD SERVICE	229.00	22,900.00			
5	Y		(USDA-P) TACOS, CRISPY BEEF, BULK, WGR. MUST	1,500	CS	GOODMAN FOOD PRODUCTS	72.94	109,410.00			
	Y-ALT		CONTRIBUTE AT LEAST 2 WGR & 2 M/MA PER			INTEGRATED FOOD SERVICE	73.06	109,590.00			
	N		SERVING			ACR FOSTER INTERMEDIATE	108.19	162,285.00			
						GROUP LLC					
	Y-ALT		TACOS, CRISPY BEEF, BULK, WGR. MUST	400	CS	INTEGRATED FOOD SERVICE	83.00				
	Y		CONTRIBUTE AT LEAST 2 WGR & 2 M/MA PER			GOODMAN FOOD PRODUCTS	88.88	35,552.00			
	N		SERVING			ACR FOSTER INTERMEDIATE	114.00	45,600.00			
						GROUP LLC					

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
6	N	4NS	(USDA-P) CALZONE, LUNCH, STUFFED, VARIETY	2,000	CS	*SCHWANS FOOD SERVICE		
	N	1NL	FLAVOR,, WG, BULK. MUST MEET AT LEAST 2M/MA			ALBIES FOODS INC	49.92	99,840.00
	N	8PS	& 2 OZ GRAIN			CONAGRA FOODS	53.22	106,440.00
						INCORPORATED		
	Y					*S AND F FOODS INC		
	N					TASTY BRANDS LLC	68.73	137,460.00
	N					STERLING BV INC	71.82	143,640.00
	N		CALZONE, LUNCH, STUFFED, VARIETY FLAVOR, WG,	200	CS	*SCHWANS FOOD SERVICE		
	N		BULK. MUST MEET AT LEAST 2M/MA & 2 OZ GRAIN			ALBIES FOODS INC	49.44	9,888.00
	Υ		·			*S AND F FOODS INC		
	N					CONAGRA FOODS	61.39	12,278.00
						INCORPORATED		
	N					STERLING BV INC	89.80	17,960.00
	N					TASTY BRANDS LLC	92.63	18,526.00
7	N	1NL	(USDA-P) FULLY COOKED BEEF MEATBALLS, BULK	1,000	CS	JTM PROVISIONS CO INC	57.61	
	Y		PACK, LESS THAN 230 MG SODIUM			GOODMAN FOOD PRODUCTS	57.81	57,810.00
	N					TYSON PREPARED FOODS INC	70.81	
	N		FULLY COOKED BEEF MEATBALLS, BULK PACK, LESS	350	CS	TYSON PREPARED FOODS INC	40.22	
	Y		THAN 230 MG SODIUM			GOODMAN FOOD PRODUCTS	138.13	
	N					JTM PROVISIONS CO INC	142.72	
8	N		(USDA-P) BEEF SAUSAGE PATTY, BULK, MUST	750	CS	GOODMAN FOOD PRODUCTS	58.50	
	Y		CREDIT AT LEAST 1M/MA, LESS THAN 85 MG			INTEGRATED FOOD SERVICE	90.00	
	N		BEEF SAUSAGE PATTY, BULK, MUST CREDIT AT	250	CS	GOODMAN FOOD PRODUCTS	0.00	
	Y		LEAST 1M/MA, LESS THAN 85 MG SODIUM			INTEGRATED FOOD SERVICE	210.00	
9	Υ		(USDA-P) BEEF SAUSAGE BREAKFAST BISCUIT	1,000	CS	INTEGRATED FOOD SERVICE	57.13	
	N		SANDWICH, WHOLE GRAIN RICH, IW, MUST CREDIT			GOODMAN FOOD PRODUCTS	116.06	
	N		BEEF SAUSAGE BREAKFAST BISCUIT SANDWICH,	300	CS	GOODMAN FOOD PRODUCTS	0.00	
10	Y		WHOLE GRAIN RICH, IW, MUST CREDIT AT LEAST 1	550	CC.	INTEGRATED FOOD SERVICE	76.00	
10	Υ		(USDA-P) BEEF MAPLE SAUSAGE & PANCAKE	550	CS	INTEGRATED FOOD SERVICE	68.20	37,510.00
			SANDWICH, IW. MUST CREDIT AT LEAST 1 WGR, 1					
	,,		M/MA. LESS THAN 365 MG SODIUM	450	cc	INTEGRATED FOOD SERVICE	05.20	44 205 00
	Y		BEEF MAPLE SAUSAGE & PANCAKE SANDWICH, IW.	150	CS	INTEGRATED FOOD SERVICE	95.30	14,295.00
			MUST CREDIT AT LEAST 1 WGR, 1 M/MA. LESS					
11	Υ		THAN 365 MG SODIUM (USDA-P) BEEF, FULLY COOKED, SLICED, MUST	1,000	CS	JTM PROVISIONS CO INC	96.52	96,520.00
1 11	N Y			1,000	CS	TYSON PREPARED FOODS INC	105.60	
	N		INCLUDE CN OR PFS BEEF, FULLY COOKED, SLICED, MUST INCLUDE CN	400	CS	TYSON PREPARED FOODS INC	199.68	
	I N Y			400	ری	JTM PROVISIONS CO INC	229.58	1
	T		OR PFS			THAT PROVISIONS CO INC	229.58	91,032.00

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
12	Υ	1NL	(USDA-P) CHEESEBURGER, WGR, IW. MUST	100	CS	INTEGRATED FOOD SERVICE	62.17	6,217.00
	N		CONTRIBUTE 2 WGR & 2 M/MA PER SERVING			GOODMAN FOOD PRODUCTS	62.22	6,222.00
	N					TYSON PREPARED FOODS INC	103.80	10,380.00
	N		CHEESEBURGER, WGR, IW. MUST CONTRIBUTE 2	25	CS	GOODMAN FOOD PRODUCTS	0.00	0.00
	Y		WGR & 2 M/MA PER SERVING			INTEGRATED FOOD SERVICE	82.00	2,050.00
	N					TYSON PREPARED FOODS INC	143.50	3,587.50
13	Y		(USDA-P) EGG PATTY, MUST CREDIT AS 1 M/MA PER SERVING, LESS THAN 120 MG SODIUM	250	CS	CARGILL KITCHEN SOLUTIONS	0.15	37.50
	Υ		EGG PATTY, MUST CREDIT AS 1 M/MA PER	50	CS	CARGILL KITCHEN SOLUTIONS	0.19	9.50
			SERVING, LESS THAN 120 MG SODIUM					
14	Y		(USDA-P) EGGS, SCRAMBLED, FROZEN, LIQUID, LESS THAN 75 MG OF SODIUM FOR 1 M/MA SERVING	1,500	CS	CARGILL KITCHEN SOLUTIONS	0.08	120.00
	Y		EGGS, SCRAMBLED, FROZEN, LIQUID, LESS THAN 75 MG OF SODIUM FOR 1 M/MA SERVING	200	CS	CARGILL KITCHEN SOLUTIONS	0.13	26.00
15	Y		(USDA-P) FRENCH TOAST, CINNAMON GLAZED, WHOLE GRAIN, WHOLE SLICED, BULK, MUST MEET 1OZ M/MA AND 1 OZ GRAIN PER NSLP. LESS THAN 300 MG OF SODIUM	1,500	CS	CARGILL KITCHEN SOLUTIONS	0.54	810.00
	Y		FRENCH TOAST, CINNAMON GLAZED, WHOLE GRAIN, WHOLE SLICED, BULK, MUST MEET 10Z M/MA AND 1 OZ GRAIN PER NSLP. LESS THAN 300 MG OF SODIUM	700	CS	CARGILL KITCHEN SOLUTIONS	0.59	413.00
16	Y		(USDA-P) FRENCH TOAST, CINNAMON GLAZED, WHOLE GRAIN, WHOLE SLICED, IW, MUST MEET 10Z M/MA AND 1 OZ GRAIN PER NSLP. LESS THAN 300 MG OF SODIUM	1,500	CS	CARGILL KITCHEN SOLUTIONS	0.57	855.00
	N		FRENCH TOAST, CINNAMON GLAZED, WHOLE GRAIN, WHOLE SLICED, IW, MUST MEET 1OZ M/MA AND 1 OZ GRAIN PER NSLP. LESS THAN 300 MG OF SODIUM	750	CS	CARGILL KITCHEN SOLUTIONS	0.61	457.50
17	N	8PS	(USDA-P) TACO MEAT, TURKEY, THIGH MEAT	3,500	CS	BUTTERBALL LLC	29.04	101,640.00
	Y		ONLY. LESS THAN 300 MG OF SODIUM PER 2M/MA			*HORMEL FOODS SALES LLC		
	N		SERVING			JTM PROVISIONS CO INC	57.50	201,250.00
	N		TACO MEAT, TURKEY, THIGH MEAT ONLY. LESS	500	CS	BUTTERBALL LLC	73.86	36,930.00
	N		THAN 300 MG OF SODIUM PER 2M/MA SERVING			JTM PROVISIONS CO INC	90.27	45,135.00
	Υ					*HORMEL FOODS SALES LLC		

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
18	Υ		(USDA-P) SPAGHETTI SAUCE, TURKEY. LESS THAN	1,000	CS	*HORMEL FOODS SALES LLC		
	N		440 MG SODIUM PER 2M/MA SERVING			BUTTERBALL LLC	52.16	52,160.00
	Υ		SPAGHETTI SAUCE, TURKEY. LESS THAN 440 MG	500	CS	*HORMEL FOODS SALES LLC		
	N		SODIUM PER 2M/MA SERVING			BUTTERBALL LLC	83.50	41,750.00
19	Υ		(USDA-P) TURKEY CHILI, NO BEANS. LESS THAN 400	750	CS	*HORMEL FOODS SALES LLC		
			MG SODIUM FOR 2M/MA SERVING					
	Y		TURKEY CHILI, NO BEANS. LESS THAN 400 MG	250	CS	*HORMEL FOODS SALES LLC		
			SODIUM FOR 2M/MA SERVING					
20	Υ		(USDA-P) TURKEY BREAST , OVEN ROASTED, THICK-	300	CS	*HORMEL FOODS SALES LLC		
	N		CUT. LESS THAN 400 MG OF SODIUM FOR 2M/MA			BUTTERBALL LLC	83.32	24,996.00
	Y		TURKEY BREAST , OVEN ROASTED, THICK-CUT. LESS	100	CS	*HORMEL FOODS SALES LLC		
	N		THAN 400 MG OF SODIUM FOR 2M/MA			BUTTERBALL LLC	124.69	12,469.00
21	Υ		(USDA-P) TURKEY DELI MEAT, PRE-SLICED, MUST	500	CS	*HORMEL FOODS SALES LLC		
	N		MEET 2M/MA			BUTTERBALL LLC	79.60	39,800.00
	Υ		TURKEY DELI MEAT, PRE-SLICED, 12 LBS/CS.	150	CS	*HORMEL FOODS SALES LLC		
	N					BUTTERBALL LLC	118.02	17,703.00
22	NA		(USDA-P) TURKEY HAM, SLICED, LESS THAN 485	350	CS	BUTTERBALL LLC	43.23	15,130.50
	NA		MG OF SODIUM FOR 2M/MA SERVING			*HORMEL FOODS SALES LLC		
	NA		TURKEY HAM, SLICED, LESS THAN 485 MG OF	50	CS	BUTTERBALL LLC	69.15	3,457.50
	NA		SODIUM FOR 2M/MA SERVING			*HORMEL FOODS SALES LLC		
23	Y		(USDA-P) TURKEY BREAST DICED 1/2". LESS THAN	800	CS	*HORMEL FOODS SALES LLC		
	N		580 MG OF SODIUM FOR 2M/MA SERVING			BUTTERBALL LLC	70.65	56,520.00
	Υ		TURKEY BREAST DICED 1/2". LESS THAN 580 MG	200	CS	*HORMEL FOODS SALES LLC		
	N		OF SODIUM FOR 2M/MA SERVING			BUTTERBALL LLC	115.85	23,170.00
24	Υ		(USDA-P) POCKET, BREAKFAST, STUFFED, TURKEY	1,000	CS	ALBIES FOODS INC	45.60	45,600.00
	N		& CHEESE, WG, IW, OR VARIETY FLAVORS. MUST			*SCHWANS FOOD SERVICE		
	N		MEET AT LEAST 1M/MA & 1 OZ GRAIN			TASTY BRANDS LLC	87.86	87,860.00
	Y		POCKET, BREAKFAST, STUFFED, TURKEY & CHEESE,	500	CS	ALBIES FOODS INC	49.80	24,900.00
	N		WG, IW, OR VARIETY FLAVORS. MUST MEET AT			*SCHWANS FOOD SERVICE		
	N		LEAST 1M/MA & 1 OZ GRAIN			TASTY BRANDS LLC	93.40	46,700.00
25	Υ		(USDA-P) POCKET, BREAKFAST, STUFFED, TURKEY	300	CS	ALBIES FOODS INC	44.10	13,230.00
	N	8PS	& CHEESE, WG, BULK, OR VARIETY FLAVOR. MUST			*SCHWANS FOOD SERVICE		
	N		MEET AT LEAST 1M/MA & 1 OZ GRAIN			TASTY BRANDS LLC	58.80	17,640.00
	N		,			STERLING BV INC	70.61	
	Y	1	POCKET, BREAKFAST, STUFFED, TURKEY & CHEESE,	100	CS	ALBIES FOODS INC	48.00	
	N		WG, BULK, OR VARIETY FLAVOR. MUST MEET AT	100		*SCHWANS FOOD SERVICE	13.00	1,000.00
	N		LEAST 1M/MA & 1 OZ GRAIN			TASTY BRANDS LLC	63.28	6,328.00
	N		,			STERLING BV INC	74.00	

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
26	Y		(USDA-P) BREAKFAST BAR, TURKEY, EGG & CHEESE, WG BREADING, BULK. MUSTR CONTRIBUTE AT LEAST 1M/MA	300	CS	TASTY BRANDS LLC	58.80	17,640.00
	Y		BREAKFAST BAR, TURKEY, EGG & CHEESE, WG BREADING, BULK. MUSTR CONTRIBUTE AT LEAST 1M/MA	100	CS	TASTY BRANDS LLC	63.28	6,328.00
27	Y		(USDA-P) PORK BAR-B-QUE, CAROLINA VINEGAR. LESS THAN 300 MG OF SODIUM FOR 2M/MA SERVING	1,000	CS	BROOKWOOD FARMS INCORPORATED	80.40	80,400.00
	Y		PORK BAR-B-QUE, CAROLINA VINEGAR. LESS THAN 300 MG OF SODIUM FOR 2M/MA SERVING	500	CS	BROOKWOOD FARMS INCORPORATED	53.70	26,850.00
28	Y		(USDA-P) TAMALES, PORK, WGR. MUST CONTRIBUTE AT LEAST 1 WGR & 1 M/MA PER TAMALE	1,500	CS	*RODRIGUEZ FOODS LTD		
	N		TAMALES, PORK, WGR. MUST CONTRIBUTE AT LEAST 1 WGR & 1 M/MA PER TAMALE	250	CS	*RODRIGUEZ FOODS LTD		
29	Y		(USDA-P) SALSA, BULK, 6 #10 CANS/CASE. LESS THAN 85 MG OF SODIUM FOR 2 TBSP SERVING	400	CS	*CALFED FINANCIAL CORPORATION		
	Υ		SALSA, BULK, 6 #10 CANS/CASE. LESS THAN 85 MG OF SODIUM FOR 2 TBSP SERVING	200	CS	*CALFED FINANCIAL CORPORATION		
30	Υ		(USDA-P) MARINARA SAUCE, 6 #10 CANS/CASE. LESS THAN 150 MG OF SODIUM FOR 1/2 R/O VEGETABLE SERVING	2,000	CS	*CALFED FINANCIAL CORPORATION		
	Y		MARINARA SAUCE, 6 #10 CANS/CASE. LESS THAN 150 MG OF SODIUM FOR 1/2 R/O VEGETABLE SERVING	500	CS	*CALFED FINANCIAL CORPORATION		
31	Y		(USDA-P) TOMATO SAUCE, 6/ #10 CAN/CASE. LESS THAN 285 MG OF SODIUM FOR A 1/4 SERVING	400	CS	*CALFED FINANCIAL CORPORATION		
	N		TOMATO SAUCE, 6/ #10 CAN/CASE. LESS THAN 285 MG OF SODIUM FOR A 1/4 SERVING	100	CS	*CALFED FINANCIAL CORPORATION		
32	Υ		(USDA-P) KETCHUP, LOW SODIUM, PC. LESS THAN 30 MG OF SODIUM FOR 9 GRAM PACKET.	4,000	CS	*CALFED FINANCIAL CORPORATION		
	Y		KETCHUP, LOW SODIUM, PC. LESS THAN 30 MG OF SODIUM FOR 9 GRAM PACKET.			*CALFED FINANCIAL CORPORATION		
33	Υ		(USDA-P) ENCHILADA SAUCE, LOW SODIUM. LESS THAN 130 MG OF SODIUM FOR 1/4 CUP SERVING	800		*CALFED FINANCIAL CORPORATION		
	N		ENCHILADA SAUCE, LOW SODIUM. LESS THAN 130 MG OF SODIUM FOR 1/4 CUP SERVING	200	CS	*CALFED FINANCIAL CORPORATION		
34	Υ		(USDA-P) SALSA CUP, 3OZ. LESS THAN 200 MG OF SODIUM FOR 1/2 CUP SERVING R/O.	200		*CALFED FINANCIAL CORPORATION		
	Υ		SALSA CUP, 3OZ. LESS THAN 200 MG OF SODIUM FOR 1/2 CUP SERVING R/O	100	CS	*CALFED FINANCIAL CORPORATION		

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
35	Υ		(USDA-P) MARINARA SAUCE CUP, 2.5 OZ,	725	CS	*CALFED FINANCIAL		
			PROVIDES 0.5 RED ORANGE VEGETABLE AND LESS			CORPORATION		
			THAN 200 MG OF SODIUM.					
	Y		MARINARA SAUCE CUP, 2.5 OZ, PROVIDES 0.5 RED	100	CS	*CALFED FINANCIAL		
			ORANGE VEGETABLE AND LESS THAN 200 MG OF			CORPORATION		
			SODIUM.					
36	Y		(USDA-P) BAR-B-QUE DUNK CUPS. LESS THAN 75	725	CS	*CALFED FINANCIAL		
			MG OF SODIUM PER SERVING			CORPORATION		
	У		BAR-B-QUE DUNK CUPS. LESS THAN 75 MG OF	100	CS	*CALFED FINANCIAL		
			SODIUM PER SERVING			CORPORATION		
37	Y		(USDA-P) BAR-B-QUE SAUCE BULK. LESS THAN 100	300	CS	*CALFED FINANCIAL		
			MG OF SODIUM FOR 2 TBSP.			CORPORATION		
	Y		BAR-B-QUE SAUCE BULK. LESS THAN 100 MG OF	100	CS	*CALFED FINANCIAL		
			SODIUM FOR 2 TBSP.			CORPORATION		
38	N	8PS	(USDA-P) FRENCH FRIES, VARIETY OF CUTS. LESS	6,000	CS	MCCAIN FOODS	30.07	
	Y		THAN 210 MG OF SODIUM PER 0.5 CUP SERVING			CAVENDISH FARMS	35.97	215,820.00
						INCORPORATED		
	Y		FRENCH FRIES, VARIETY OF CUTS. LESS THAN 210	1,000	CS	CAVENDISH FARMS	35.97	35,970.00
			MG OF SODIUM PER 0.5 CUP SERVING			INCORPORATED		
	N					MCCAIN FOODS	39.39	
39	N	3TQ	(USDA-P) TATER TOTS. LESS THAN 210 MG OF	2,000	CS	CAVENDISH FARMS	31.17	62,340.00
			SODIUM PER 0.5 STARTCHY VEGETABLE SERVING			INCORPORATED		
	Y					MCCAIN FOODS	36.43	,
	N		TATER TOTS. LESS THAN 210 MG OF SODIUM PER	1,000	CS	CAVENDISH FARMS	31.17	31,170.00
			0.5 STARTCHY VEGETABLE SERVING			INCORPORATED		
	Υ					MCCAIN FOODS	45.75	45,750.00

						*CONFIDENTIAL			
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price	
40	Υ		(USDA-P) FRIES, CURLY, SEASONED LESS THAN 300	4,500	CS	MCCAIN FOODS	31.02	139,590.00	
	Υ		MG OF SODIUM FOR 3 OZ SERVING			CAVENDISH FARMS	32.37	145,665.00	
						INCORPORATED			
	Υ		FRIES, CURLY, SEASONED LESS THAN 300 MG OF	1,000	CS	CAVENDISH FARMS	32.37	32,370.00	
			SODIUM FOR 3 OZ SERVING			INCORPORATED			
	Υ					MCCAIN FOODS	38.47	38,470.00	
41	N	3TQ	(USDA-P) FRIES, CRINKLE CUT. LESS THAN 250 MG	6,000	CS	CAVENDISH FARMS	31.77		
			OF SODIUM FOR A 3 OZ SERVING			INCORPORATED			
	Υ					MCCAIN FOODS	37.33	223,980.00	
	N		FRIES, CRINKLE CUT. LESS THAN 250 MG OF	1,000	CS	CAVENDISH FARMS	31.77		
			SODIUM FOR A 3 OZ SERVING			INCORPORATED			
	Υ					MCCAIN FOODS	46.65	46,650.00	
42	Υ		(USDA-P) POTATO, CRISPY MASHED, EMOTICONS	6,000	CS	MCCAIN FOODS	40.89	245,340.00	
			SHAPE, CN MUST BE SMART SNACK COMPLIANT,						
			BAKEABLE. LESS THAN 100 MG OF SODIUM FOR 5						
			PIECES.						
	Y		POTATO, CRISPY MASHED, EMOTICONS SHAPE, CN	1,000	CS	MCCAIN FOODS	48.34	48,340.00	
			MUST BE SMART SNACK COMPLIANT, BAKEABLE.						
			LESS THAN 100 MG OF SODIUM FOR 5 PIECES						
43	Y		(USDA-P) SWEET POTATO. LESS THAN 200 MG OF	3,000	CS	MCCAIN FOODS	27.84	83,520.00	
		ļ	SODIUM PER 0.5 R/O CREDIT						
	Y		SWEET POTATO. LESS THAN 200 MG OF SODIUM	500	CS	MCCAIN FOODS	33.36	16,680.00	
		_	PER 0.5 R/O CREDIT				01.00		
44	Y		(USDA-P) APPLESAUCE CUP, UNSWEETENED,	3,600	CS	NATIONAL FOOD GROUP INC	21.00		
	N		VARIETY FLAVORS, MEETS 1/2 CUP FRUIT.			TSD DISTRIBUTING	21.13	76,068.00	
	Y	 	APPLESAUCE CUP, UNSWEETENED, VARIETY	400	CS	INCORPORATED NATIONAL FOOD GROUP INC	24.38	9,752.00	
	N N		FLAVORS, MEETS 1/2 CUP FRUIT	400		TSD DISTRIBUTING	24.72		
	''		LAVOIS, WILLIS 1/2 COL TROLL			INCORPORATED		3,000.00	
45	Υ		(USDA-P) CHICKEN PATTY BREADED, MADE WITH	1,000	CS	PILGRIMS PRIDE CORP	41.22	41,220.00	
	N	8PS	WHOLE MUSCLE, WHOLE GRAIN RICH, PRE-			PROVIEW FOODS LLC	43.79		
	N		COOKED. LESS THAN 400 MG OF SODIUM FOR A			GOLD CREEK FOODS LLC	49.60		
	N		2M/MA AND 1 WGR			TYSON PREPARED FOODS INC	59.88		
	N		CHICKEN PATTY BREADED, MADE WITH WHOLE	500	CS	PROVIEW FOODS LLC	54.59		
	N		MUSCLE, WHOLE GRAIN RICH, PRE-COOKED. LESS				GOLD CREEK FOODS LLC	85.85	-
	Y		THAN 400 MG OF SODIUM FOR A 2M/MA AND 1				PILGRIMS PRIDE CORP	90.00	-
<u> </u>	N		WGR	1		TYSON PREPARED FOODS INC	110.16	55,080.00	

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
46	N	3TQ	(USDA-P) SPICY CHICKEN BREAST FILET, WHOLE	2,000	CS	PILGRIMS PRIDE CORP	46.42	92,840.00
	N	3TQ	MUSCLE. LESS THAN 430 MG OF SODIUM PER 2M/MA AND 1 WGR			GOLD CREEK FOODS LLC	65.28	130,560.00
	Υ					TYSON PREPARED FOODS INC	87.29	174,580.00
	N		SPICY CHICKEN BREAST FILET, WHOLE MUSCLE.	500	CS	PILGRIMS PRIDE CORP	75.30	37,650.00
	N		LESS THAN 430 MG OF SODIUM PER 2M/MA AND			GOLD CREEK FOODS LLC	112.49	56,245.00
	Υ		1 WGR			TYSON PREPARED FOODS INC	133.41	
47	N	1NL	(USDA-P) CHICKEN BREAST FILET, WHOLE MUSCLE,	1,700	CS	PILGRIMS PRIDE CORP	61.48	, , , , , , , , , , , , , , , , , , ,
	Y		FULLY COOKED, WHOLE GRAIN, BREADED, 2 MEAT EQUIVALENT. LESS THAN 480 MG OF SODIUM FOR			GOLD CREEK FOODS LLC	64.96	110,432.00
	N		2M/MA AND 1 WGD SEDVING			TYSON PREPARED FOODS INC	84.29	143,293.00
	N		CHICKEN BREAST FILET, WHOLE MUSCLE, FULLY	300	CS	PILGRIMS PRIDE CORP	105.00	31,500.00
	Y		COOKED, WHOLE GRAIN, BREADED, 2 MEAT			GOLD CREEK FOODS LLC	112.17	33,651.00
	N		EQUIVALENT. LESS THAN 480 MG OF SODIUM FOR 2M/MA AND 1 WGR SERVING			TYSON PREPARED FOODS INC	130.41	39,123.00
48	Υ		(USDA-P) CHICKEN PATTY, BREAKFAST, WG. LESS	1,700	CS	PILGRIMS PRIDE CORP	27.87	47,379.00
	N	111111123011100130011111011111111111111			PROVIEW FOODS LLC	43.79	74,443.00	
	N		WGR.			GOLD CREEK FOODS LLC	45.76	77,792.00
	N					TYSON PREPARED FOODS INC	59.15	
	N		CHICKEN PATTY, BREAKFAST, WG. LESS THAN 250	300	CS	PROVIEW FOODS LLC	54.59	16,377.00
	Y		MG OF SODIUM FOR A 1M/MA AND 1/2 WGR.			PILGRIMS PRIDE CORP	67.20	20,160.00
	N					GOLD CREEK FOODS LLC	83.84	25,152.00
	N					TYSON PREPARED FOODS INC	106.60	
49	Y-ALT		(USDA-P) CHICKEN CHUNK, BREAKFAST, BREADED, WG, DARK MEAT. MUST PROVIDE AT LEAST	400	CS	PILGRIMS PRIDE CORP	30.62	12,248.00
	N	8PS	1M/MA & 1 GRAIN			PROVIEW FOODS LLC	58.48	23,392.00
	Y					GOLD CREEK FOODS LLC	60.80	24,320.00
	N					TYSON PREPARED FOODS INC	63.23	25,292.00
	Y-ALT		CHICKEN CHUNK, BREAKFAST, BREADED, WG,	100	CS	PILGRIMS PRIDE CORP	78.41	7,841.00
	N		DARK MEAT. MUST PROVIDE AT LEAST 1M/MA & 1			PROVIEW FOODS LLC	82.40	8,240.00
	N		GRAIN			TYSON PREPARED FOODS INC	100.52	10,052.00
	Y					GOLD CREEK FOODS LLC	121.99	
50	Υ		(USDA-P) CHICKEN BREAST FILET CHARBROILED.	600	CS	TYSON PREPARED FOODS INC	73.15	43,890.00
	N		LESS THAN 350 MG OF SODIUM FOR 2M/MA			GOLD CREEK FOODS LLC	88.00	52,800.00
	Υ		CHICKEN BREAST FILET CHARBROILED. LESS THAN	200	200 CS	TYSON PREPARED FOODS INC	133.92	
	N		350 MG OF SODIUM FOR 2M/MA SERVING			GOLD CREEK FOODS LLC	150.59	30,118.00

Ln #	Award	Reason	Item Description	Quantity	UOM	*CONFIDENTIAL Supplier	Price	Extended Price
	(Y/N)							
51	N	1NL	(USDA-P) CHICKEN NUGGETS. LESS THAN 440 MG	1,500	CS	PROVIEW FOODS LLC	39.17	58,755.00
	Y		OF SODIUM FOR 2M/MA AND 1 WGR			PILGRIMS PRIDE CORP	40.56	/
	N					GOLD CREEK FOODS LLC	46.24	
	N					TYSON PREPARED FOODS INC	48.18	
	N					ACR FOSTER INTERMEDIATE	79.62	119,430.00
						GROUP LLC		
	N		CHICKEN NUGGETS. LESS THAN 440 MG OF	250	CS	PROVIEW FOODS LLC	54.59	
	Υ		SODIUM FOR 2M/MA AND 1 WGR			PILGRIMS PRIDE CORP	67.50	
	N					TYSON PREPARED FOODS INC	74.87	18,717.50
	N					GOLD CREEK FOODS LLC	82.84	
	N					ACR FOSTER INTERMEDIATE	120.90	30,225.00
			(1.2.1.2.1.2.1.2.1.2.1.2.1.2.1.2.1.2.1.2			GROUP LLC		
52	N		(USDA-P) CHICKEN TENDERS, BREADED, WG. LESS	600	CS	PILGRIMS PRIDE CORP	43.26	25,956.00
	N	1 31U	THAN 475 MG OF SODIUM FOR A 3 PIECE 2M/MA			TYSON PREPARED FOODS INC	43.68	26,208.00
	Υ		AND 1 WGR SERVING			GOLD CREEK FOODS LLC	48.96	29,376.00
	N		CHICKEN TENDERS, BREADED, WG. LESS THAN 475	100	CS	TYSON PREPARED FOODS INC	65.95	6,595.00
	N		MG OF SODIUM FOR A 3 PIECE 2M/MA AND 1			PILGRIMS PRIDE CORP	70.20	7,020.00
	Y		WGR SERVING			GOLD CREEK FOODS LLC	85.46	8,546.00
53	N	3TQ	(USDA-P) SPICY CHICKEN TENDERS, BREADED, WG.	1,300	CS	GOLD CREEK FOODS LLC	60.00	78,000.00
	Υ		LESS THAN 410 MG OF SODIUM FOR A 2 3 PC			TYSON PREPARED FOODS INC	67.79	88,127.00
	N		SPICY CHICKEN TENDERS, BREADED, WG. LESS THAN 410 MG OF SODIUM FOR A 2 3 PC 2M/MA	200 C	CS	GOLD CREEK FOODS LLC	107.21	21,442.00
	Υ					TYSON PREPARED FOODS INC	118.89	23,778.00
54	N	1NL	(USDA-P) CHICKEN WINGS, BONE IN, ROASTED.	2,000	CS	ACR FOSTER INTERMEDIATE	63.61	
			LESS THAN 450 MG OF SODIUM FOR 2M/MA			GROUP LLC		
	N	4NS	,			GOLD CREEK FOODS LLC	72.16	144,320.00
	Υ					TYSON PREPARED FOODS INC	85.50	171,000.00
	N		CHICKEN WINGS, BONE IN, ROASTED. LESS THAN	500	CS	ACR FOSTER INTERMEDIATE	83.25	
			450 MG OF SODIUM FOR 2M/MA			GROUP LLC		
	N					GOLD CREEK FOODS LLC	101.97	50,985.00
	Υ					TYSON PREPARED FOODS INC	124.83	62,415.00

				*CONFIDENTIAL				
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
55	N	1NL	(USDA-P) UNBREADED CHICKEN STRIPS. LESS THAN	1,300	CS	PROVIEW FOODS LLC	40.99	53,287.00
	N	8PS	MG OF SODIUM PER 300 MG OF SODIUM FOR 2M/MA.			PILGRIMS PRIDE CORP	53.02	68,926.00
	Υ		ZIVI/IVIA.			TYSON PREPARED FOODS INC	61.25	79,625.00
	N					GOLD CREEK FOODS LLC	77.28	100,464.00
	N					ACR FOSTER INTERMEDIATE	115.20	149,760.00
						GROUP LLC		
	N					OUT OF THE SHELL LLC	135.64	176,332.00
	N		UNBREADED CHICKEN STRIPS. LESS THAN MG OF	200	CS	PROVIEW FOODS LLC	40.99	8,198.00
	N		SODIUM PER 300 MG OF SODIUM FOR 2M/MA.			PILGRIMS PRIDE CORP	103.34	20,668.00
	Υ			TYSON PREPARED FOODS INC	122.71	24,542.00		
	N					GOLD CREEK FOODS LLC	164.28	32,856.00
	N					ACR FOSTER INTERMEDIATE	165.00	33,000.00
					GROUP LLC		,	
	N					OUT OF THE SHELL LLC	166.24	33,248.00
56	Υ		(USDA-P) CHICKEN, SHREDDED, PULLED, FULLY	300	CS	TYSON PREPARED FOODS INC	18.02	5,406.00
	N		COOKED. MUST PROVIDE AT LEAST 10Z M/MA			ACR FOSTER INTERMEDIATE	19.87	5,961.00
						GROUP LLC		
	N					PILGRIMS PRIDE CORP	55.51	16,653.00
	N					GOLD CREEK FOODS LLC	70.72	,
	N					PROVIEW FOODS LLC	97.00	29,100.00
	N					*INTERNATIONAL FOODS		
						SOLUTIONS INC		
	Y		CHICKEN, SHREDDED, PULLED, FULLY COOKED.	100	CS	TYSON PREPARED FOODS INC	39.20	
	N		MUST PROVIDE AT LEAST 10Z M/MA			ACR FOSTER INTERMEDIATE	40.00	4,000.00
						GROUP LLC	102.24	40.224.00
		N N			PILGRIMS PRIDE CORP	103.34	1	
	''				PROVIEW FOODS LLC	123.35	,	
	N					GOLD CREEK FOODS LLC	128.84	12,884.00
	N				*INTERNATIONAL FOODS			
						SOLUTIONS INC		

		*CONFIDENTIAL							
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price	
57	N	4NS	(USDA-P) CHICKEN DRUMSTICKS OR THIGHS, WGR	2,200	CS	ACR FOSTER INTERMEDIATE	51.71	113,762.00	
			MUST CONTRIBUTE AT LEAST 2M/MA. LESS THAN			GROUP LLC			
	N	8PS	530 MG OF SODIUM FOR A 2M/MA.			PILGRIMS PRIDE CORP	54.16	119,152.00	
	Y					TYSON PREPARED FOODS INC	59.99	131,978.00	
	N					GOLD CREEK FOODS LLC	64.48	141,856.00	
	N					*ES FOODS			
	N		CHICKEN DRUMSTICKS OR THIGHS, WGR MUST	800	CS	PILGRIMS PRIDE CORP	86.40	69,120.00	
	N		CONTRIBUTE AT LEAST 2M/MA. LESS THAN 530			ACR FOSTER INTERMEDIATE	90.40	72,320.00	
			MG OF SODIUM FOR A 2M/MA			GROUP LLC			
	Υ		,			TYSON PREPARED FOODS INC	95.34	76,272.00	
	N					*ES FOODS			
	N N					GOLD CREEK FOODS LLC	122.17	97,736.00	
58	N	8PS	(USDA-P) WHOLE GRAIN BREADED WHOLE	1,000	CS	PROVIEW FOODS LLC	30.61	30,610.00	
	N	3TQ	MUSCLE CHICKEN BREAST CHUNK. FULLY COOKED,			PILGRIMS PRIDE CORP	44.98	44,980.00	
	Y		OVEN READY. FIVE - 0.75 OZ AVG BITES EQUAL 1-			GOLD CREEK FOODS LLC	63.84	63,840.00	
	N		3 75 OZ SERVING LESS THAN 510 MG OF SODILIM			TYSON PREPARED FOODS INC	98.56	98,560.00	
	N		WHOLE GRAIN BREADED WHOLE MUSCLE CHICKEN	1,000	CS	PROVIEW FOODS LLC	82.40	82,400.00	
	N		BREAST BITES. FULLY COOKED, OVEN READY. FIVE -			PILGRIMS PRIDE CORP	88.50	88,500.00	
	Υ		0.75 OZ AVG BITES EQUAL 1-3.75 OZ SERVING.			GOLD CREEK FOODS LLC	111.05	111,050.00	
	N		LESS THAN 510 MG OF SODIUM FOR AT LEAST			TYSON PREPARED FOODS INC	146.89	146,890.00	
59	Y		(USDA-P) CHICKEN SAUSAGE PATTY, DARK MEAT.	600	CS	TYSON PREPARED FOODS INC	49.07	29,442.00	
	Y-ALT		LESS THAN 260 MG OF SODIUM FOR 1M/MA.			GOLD CREEK FOODS LLC	86.08	51,648.00	
	Y	2233 1117 117 2	CHICKEN SAUSAGE PATTY, DARK MEAT. LESS THAN	200	CS	TYSON PREPARED FOODS INC	115.76	23,152.00	
	Y-ALT		260 MG OF SODIUM FOR 1M/MA.			GOLD CREEK FOODS LLC	139.75	27,950.00	

						*CONFIDENTIAL		
Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
60	N	1NL	(USDA-P) ORANGE CHICKEN, SAUCE & CHICKEN IN	1,500	CS	*SCHWANS FOOD SERVICE		
	N	1NL	CASE, DARK MEAT, CORN STARTCH BATTERED.			*INTERNATIONAL FOODS		
			LESS THAN 280 MG OF SODIUM FOR 2M/MA.			SOLUTIONS INC		
	N	1NL				OMNIBUS TRADING	133.00	199,500.00
						CORPORATION		
	Y					OUT OF THE SHELL LLC	135.33	202,995.00
	Y		ORANGE CHICKEN, SAUCE & CHICKEN IN CASE,	500	CS	*SCHWANS FOOD SERVICE		
	N		DARK MEAT, CORN STARTCH BATTERED. LESS			*INTERNATIONAL FOODS		
			THAN 280 MG OF SODIUM FOR 2M/MA.			SOLUTIONS INC		
	N					OMNIBUS TRADING	159.04	79,520.00
						CORPORATION		
	Y	4511	(1100 + 0) 011101/51 0111111/0 5111111 0001/50 0001	4 000	00	OUT OF THE SHELL LLC	160.51	
61	N	1NL	(USDA-P) CHICKEN CHUNKS, FULLY COOKED, CORN	1,200	CS	OMNIBUS TRADING	126.00	151,200.00
			STARCH BATTERED, NO SAUCE, DARK MEAT. LESS			CORPORATION		
	Y		THAN 125 MG OF SODIUM FOR 2 M/MA.			OUT OF THE SHELL LLC	158.28	-
	N		CHICKEN CHUNKS, FULLY COOKED, CORN STARCH	400	CS	OMNIBUS TRADING	152.04	60,816.00
	\ \ \		BATTERED, NO SAUCE, DARK MEAT. LESS THAN			CORPORATION	107.04	75.056.00
62	Y N	4NS	125 MG OF SODILIM FOR 2 M/MA (USDA-P) EGG ROLL, DARK MEAT CHICKEN, WHOLE	1,400	CC	OUT OF THE SHELL LLC *SCHWANS FOOD SERVICE	187.64	75,056.00
02		4103		1,400	CS			00 000 00
	Y		GRAIN RICH, MUST CONTRIBUTE 1M/1 WGR. LESS			OMNIBUS TRADING	63.00	88,200.00
			THAN 200 MG OF SODIUM PER 1M AND 1G		CC	CORPORATION		
	N		EGG ROLL, DARK MEAT CHICKEN, WHOLE GRAIN	500	CS	*SCHWANS FOOD SERVICE		
	Υ		RICH, MUST CONTRIBUTE 1M/1 WGR. LESS THAN			OMNIBUS TRADING	72.54	36,270.00
			200 MG OF SODIUM PER 1M AND 1G			CORPORATION		
63	N	3TQ	(USDA-P) PANCAKE SAUSAGE BITES, DARK MEAT,	800	CS	PROVIEW FOODS LLC	17.01	13,608.00
			WHOLE GRAIN, BULK, MUST CONTRIBUTE 1M/MA					
	N	1NL				ACR FOSTER INTERMEDIATE	37.40	29,920.00
						GROUP LLC		
	N	4NS				GOLD CREEK FOODS LLC	48.96	39,168.00
	Υ					TYSON PREPARED FOODS INC	53.02	
	N	8PS				JTM PROVISIONS CO INC	95.16	i i
	N		PANCAKE SAUSAGE BITES, DARK MEAT, WHOLE	250	CS	PROVIEW FOODS LLC	29.34	7,335.00
	N		GRAIN, BULK, MUST CONTRIBUTE 1M/MA AND			ACR FOSTER INTERMEDIATE	37.40	9,350.00
			1WGR. LESS THAN 590 MG OF SODIUM FOR AT			GROUP LLC		
	Y		LEAST 1M 1 WGR.			TYSON PREPARED FOODS INC	87.22	21,805.00
	Ň					GOLD CREEK FOODS LLC	118.34	
	N					JTM PROVISIONS CO INC	141.18	· '
								, , , ,

Ln #	Award	Reason	Item Description	Quantity	иом	Supplier	Price	Extended Price
	(Y/N)		·	,				
64	N	1NL	(USDA-P) CORN DOG, CHICKEN, WHOLE GRAIN,	2,000	CS	TYSON PREPARED FOODS INC	27.71	55,420.00
	Y		BULK. LESS THAN 480 MG OF SODIUM FOR 2M/MA AND 2 WGR			ACR FOSTER INTERMEDIATE GROUP LLC	30.69	61,380.00
	N		CORN DOG, CHICKEN, WHOLE GRAIN, BULK. LESS	800	CS	TYSON PREPARED FOODS INC	38.16	30,528.00
	Y		THAN 480 MG OF SODIUM FOR 2M/MA AND 2 WGR			ACR FOSTER INTERMEDIATE GROUP LLC	42.84	34,272.00
65	Υ		(USDA-P) MINI CORN DOG, CHICKEN, WHOLE	4,000	CS	PROVIEW FOODS LLC	23.73	94,920.00
	N		GRAIN, BULK. LESS THAN 480 MG OF SODIUM PER 2M/MA AND 2 WGR			ACR FOSTER INTERMEDIATE GROUP LLC	24.82	99,280.00
	N					TYSON PREPARED FOODS INC	56.70	226,800.00
	N					JTM PROVISIONS CO INC	84.92	339,680.00
	Y		MINI CORN DOG, CHICKEN, WHOLE GRAIN, BULK.	1,500	CS	PROVIEW FOODS LLC	27.56	41,340.00
	N		LESS THAN 480 MG OF SODIUM PER 2M/MA AND 2 WGR			ACR FOSTER INTERMEDIATE GROUP LLC	31.40	47,100.00
	N				TYSON PREPARED FOODS INC	85.22	127,830.00	
	N					JTM PROVISIONS CO INC	115.43	173,145.00
66	Y		(USDA-P) PANCAKE ON A STICK, WGR, BULK. MUST CONTRIBUTE AT LEAST 1WGR & 1M/MA PER SERVING	600	CS	ACR FOSTER INTERMEDIATE GROUP LLC	28.55	17,130.00
	Y		PANCAKE ON A STICK, WGR, BULK. MUST CONTRIBUTE AT LEAST 1WGR & 1M/MA PER SERVING	200	CS	ACR FOSTER INTERMEDIATE GROUP LLC	28.55	5,710.00
67	Y		(USDA-P) PANCAKE ON A STICK, WGR, IW, PORK FREE. MUST CONTRIBUTE AT LEAST 1 WGR & 1 M/MA PER SERVING	1,000	CS	ACR FOSTER INTERMEDIATE GROUP LLC	38.07	38,070.00
	Y		PANCAKE ON A STICK, WGR, IW, PORK FREE. MUST CONTRIBUTE AT LEAST 1 WGR & 1 M/MA PER SERVING	250	CS	ACR FOSTER INTERMEDIATE GROUP LLC	38.07	9,517.50

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
68	Υ		(USDA-P) BURRITO, FOIL WRAP, CHICKEN &	1,000	CS	MCI FOODS INC	63.97	63,970.00
			CHEESE. MUST CONTRIBUTE 2M/MA & 2 GRAIN,					
			WGR					
	Υ		BURRITO, FOIL WRAP, CHICKEN & CHEESE. MUST	400	CS	MCI FOODS INC	67.34	26,936.00
			CONTRIBUTE 2M/MA & 2 GRAIN, WGR					
69	Υ		(USDA-P) CHEESE CHEDDAR SHREDDED. LESS THAN	1,800	CS	LAND O LAKES INC	14.51	26,118.00
	N		200 MG OF SODIUM FOR 1/4 CUP			BONGARDS CREAMERIES	57.21	102,978.00
	Y		CHEESE CHEDDAR SHREDDED. LESS THAN 200 MG	200	CS	LAND O LAKES INC	54.34	10,868.00
	N		OF SODIUM FOR 1/4 CUP			BONGARDS CREAMERIES	57.21	
70	Υ			1,200	CC	LAND O LAKES INC	19.00	
70	N N		(USDA-P) CHEESE, AMERICAN, SLICED. LESS THAN 200 MG OF SODIUM FOR 1/4 CUP	1,200	CS	BONGARDS CREAMERIES	70.20	
			·	200	CC			
	Y		CHEESE, AMERICAN, SLICED. LESS THAN 200 MG	300	CS	LAND O LAKES INC BONGARDS CREAMERIES	44.89	
	N		OF SODIUM FOR 1/4 CUP			BUNGARDS CREAMERIES	70.20	21,060.00
71	Υ		(USDA-P) CHEESE, MOZZARELLA, SHREDDED, LOW	1,200	CS	LAND O LAKES INC	13.39	16,068.00
	N		SODIUM. LESS THAN 200 MG OF SODIUM FOR 1/4			BONGARDS CREAMERIES	56.46	67,752.00
			CUP					
	Y		CHEESE, MOZZARELLA, SHREDDED, LOW SODIUM.	300	CS	LAND O LAKES INC	53.22	15,966.00
	N		LESS THAN 200 MG OF SODIUM FOR 1/4 CUP			BONGARDS CREAMERIES	56.46	
72	Υ		(USDA-P) CHEESE, STRING, IW. LESS THAN 200 MG	1,800	CS	LAND O LAKES INC	14.74	
	N		OF SODIUM FOR 1M/MA			BONGARDS CREAMERIES	37.87	68,166.00
	Υ		CHEESE, STRING, IW. LESS THAN 200 MG OF	200	CS	LAND O LAKES INC	35.65	7,130.00
	N		SODIUM FOR 1M/MA			BONGARDS CREAMERIES	37.87	7,574.00
73	Υ		(USDA-P) CHEESE SAUCE, SHELF STABLE. LESS	1,700	CS	LAND O LAKES INC	45.63	77,571.00
, 0	N	4NS	THAN 400 MG OF SODIUM FOR 1M/MA			JTM PROVISIONS CO INC	47.81	
	Y		CHEESE SAUCE, SHELF STABLE. LESS THAN 400 MG	300	CS	LAND O LAKES INC	72.52	· '
	N N		OF SODIUM FOR 1M/MA	300		JTM PROVISIONS CO INC	77.68	
74	Y		(USDA-P) WHITE CREAMY CHEESE SAUCE, SHELF	1,000	CS	LAND O LAKES INC	50.71	
, -	N N	4NS	STABLE. LESS THAN 400 MG OF SODIUM FOR	1,000		JTM PROVISIONS CO INC	53.36	
	.,	4113	1M/MA SERVING			JIWIT NO VISIONS CO INC	33.30	33,300.00
	Υ		WHITE CREAMY CHEESE SAUCE, SHELF STABLE.	200	CS	LAND O LAKES INC	79.75	15,950.00
	N		LESS THAN 400 MG OF SODIUM FOR 1M/MA	200		JTM PROVISIONS CO INC	83.23	
75	Y		(USDA-P) MACARONI & CHEESE, REDUCED FAT,	1,600	CS	JTM PROVISIONS CO INC	40.00	
73	N N		WGR. LESS THAN 600 MG OF SODIUM FOR 2M/MA			*ES FOODS	40.00	04,000.00
	N		& 1WGR			LAND O LAKES INC	58.74	93,984.00
	N		a iwan			TASTY BRANDS LLC	65.11	
	Y-ALT					RICH PRODUCTS CORPORATION		
							00.00	===,100.00
	Y-ALT		MACARONI & CHEESE, REDUCED FAT, WGR. LESS	400	CS	JTM PROVISIONS CO INC	50.20	20,080.00
	N		THAN 600 MG OF SODIUM FOR 2M/MA & 1WGR			*ES FOODS		2,222.00
	N					LAND O LAKES INC	72.00	28,800.00
	N					TASTY BRANDS LLC	80.44	
	Y-ALT					RICH PRODUCTS CORPORATION	V 93.75	

			*CONFIDENTIAL							
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price		
76	Y		(USDA-P) TURKEY & CHEESE LUNCH KIT, IW, 51%	800	CS	TASTY BRANDS LLC	75.76	60,608.00		
			WHOLE GRAIN CRACKERS WITH TURKEY COINS							
			AND CHEESE. LESS THAN 1000 MG OF SODIUM PER							
	Y		KIT	200	CC	TACTY DDANIDC LLC	80.20	16.040.00		
	T		TURKEY & CHEESE LUNCH KIT, IW, 51% WHOLE GRAIN CRACKERS WITH TURKEY COINS AND	200	CS	TASTY BRANDS LLC	80.20	16,040.00		
			CHEESE. LESS THAN 1000 MG OF SODIUM PER KIT							
			CITELSE. LESS THAN 1000 MIG OF SOCIOMITER KIT							
77	Υ		(USDA-P) TURKEY PEPPERONI & CHEESE PIZZA	800	CS	TASTY BRANDS LLC	71.88	57,504.00		
			LUNCH KIT, IW, 51% WHOLE GRAIN CRACKERS							
			WITH SLICED CHEESE & TURKEY PEPPERONI COINS.							
			LESS THAN 1000 MG OF SODIUM FOR KIT							
	Y		TURKEY PEPPERONI & CHEESE PIZZA LUNCH KIT,	200	CS	TASTY BRANDS LLC	80.72	16,144.00		
			IW, 51% WHOLE GRAIN CRACKERS WITH SLICED							
			CHEESE & TURKEY PEPPERONI COINS. LESS THAN							
78	NI.	270	1000 MG OF SODILIM FOR KIT	1,750	CC	CLASSIC DELICITIES	C2 42	111 002 50		
78	N	31Q	(USDA-P) STUFFED PASTA WITH CHEESE, 51% WHOLE GRAIN. MUST CONTRIBUTE AT LEAST	1,750	CS	CLASSIC DELIGHT LLC	63.43	111,002.50		
	Υ		2M/MA & 1WGR. LESS THAN 260 MG OF SODIUM			TASTY BRANDS LLC	67.57	118,247.50		
	N		STUFFED PASTA WITH CHEESE, 51% WHOLE	500	CS	CLASSIC DELIGHT LLC	79.22	39,610.00		
	Y		GRAIN. MUST CONTRIBUTE AT LEAST 2M/MA &			TASTY BRANDS LLC	90.04			
79	Υ		(USDA-P) BREADED MOZZARELLA STICKS, OVEN-	200	CS	RICH PRODUCTS CORPORATION	51.69	41,352.00		
			READY. 51% WHOLE GRAIN, 2M/MA & 2 WGR.							
	N		LESS THAN 470 MG OF SODIUM FOR 2M/MA & 2			TASTY BRANDS LLC	71.75	i '		
	Y		BREADED MOZZARELLA STICKS, OVEN-READY. 51%		CS	RICH PRODUCTS CORPORATION	73.60	14,720.00		
	N		WHOLE GRAIN, 2M/MA & 2 WGR. LESS THAN 470			TASTY BRANDS LLC	99.89	19,978.00		
80	Y-ALT		MG OF SODIUM FOR 2M/MA & 2 WGR (USDA-P) BREADSTICK, CHEESE STUFFED, WGR.	2,200	CS	*S AND F FOODS INC	33.63	19,976.00		
	N	8PS		2,200		CONAGRA FOODS	39.23	86,306.00		
			WGR			INCORPORATED		,		
	Y					TYSON PREPARED FOODS INC	39.46	86,812.00		
	N					CLASSIC DELIGHT LLC	43.39	95,458.00		
	N					*SCHWANS FOOD SERVICE				
	N	8PS				SA PIAZZA & ASSOCIATES LLC	52.80	116,160.00		
	N					TASTY BRANDS LLC	52.96			
	Y-ALT		BREADSTICK, CHEESE STUFFED, WGR. LESS THAN	300	CS	*S AND F FOODS INC				
	N		540 MG OF SODIUM FOR 2M/MA & 2 WGR			CONAGRA FOODS	56.00	16,800.00		
						INCORPORATED				
	Υ					TYSON PREPARED FOODS INC	56.06			
	N					CLASSIC DELIGHT LLC	56.30	16,890.00		
	N					*SCHWANS FOOD SERVICE				
	N					TASTY BRANDS LLC	67.30			
	N					SA PIAZZA & ASSOCIATES LLC	72.17	21,651.00		

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
81	Υ		(USDA-P) PIZZA, CHEESE, 16", WHOLE GRAIN RICH,	550	CS	ALPHA FOODS CO	41.00	22,550.00
	N		100% MOZZARELLA. LESS THAN 540 MG OF SODIUM FOR 2M.MA & 2 WGR SERVING			*NARDONE BROS BAKING CO		
	N		SODIOW FOR ZWI.WA & 2 WGR SERVING			*SCHWANS FOOD SERVICE		
	N					SA PIAZZA & ASSOCIATES LLC	57.92	31,856.00
	N		PIZZA, CHEESE, 16", WHOLE GRAIN RICH, 100% MOZZARELLA. LESS THAN 540 MG OF SODIUM FOR	200	CS			32/33333
	Y N		2M.MA & 2 WGR SERVING			ALPHA FOODS CO *SCHWANS FOOD SERVICE	57.60	11,520.00
	N					SA PIAZZA & ASSOCIATES LLC	76.68	15,336.00
82	Y N		(USDA-P) PIZZA, PEPPERONI, 16", WHOLE GRAIN, PEPPERONI AND 100% MOZZARELLA, MUST	3,300	CS	*NARDONE BROS BAKING CO	44.45	146,685.00
	N N		CONTRIBUTE 20Z M/MA. LESS THAN 580 MG OF SODIUM PER 2M/MA & 2 WGR PIZZA, PEPPERONI, 16", WHOLE GRAIN, PEPPERONI AND 100% MOZZARELLA, MUST CONTRIBUTE 20Z			*SCHWANS FOOD SERVICE SA PIAZZA & ASSOCIATES LLC	64.79	213,807.00
	N			500	500 CS	*NARDONE BROS BAKING CO INC		
	Y N		M/MA. LESS THAN 580 MG OF SODIUM PER			ALPHA FOODS CO *SCHWANS FOOD SERVICE	58.98	29,490.00
	N		2M/MA & 2 WGR			SA PIAZZA & ASSOCIATES LLC	81.11	40,555.00
83	N	1NL	(USDA-P) PIZZA, ULTIMATE MEAT, 16", 100 % MOZZARELLA. LESS THAN 650 MG OF SODIUM FOR	1,200	CS	*NARDONE BROS BAKING CO		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	Y N		2M/MA & 2 WGR			ALPHA FOODS CO *SCHWANS FOOD SERVICE	50.50	60,600.00
	N		PIZZA, ULTIMATE MEAT, 16", 100 % MOZZARELLA. LESS THAN 650 MG OF SODIUM FOR 2M/MA & 2	300	CS	*NARDONE BROS BAKING CO		
	Y N		WGR			ALPHA FOODS CO *SCHWANS FOOD SERVICE	67.10	20,130.00

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
84	(17N) Y		(USDA-P) PIZZA CHEESE WEDGE. LESS THAN 435	1,200	CS	*NARDONE BROS BAKING CO		
			MG OF SODIUM FOR 2M/MA & 2 WGR SERVING	ĺ		INC		
	N					CONAGRA FOODS	37.75	45,300.00
						INCORPORATED		
	N					*SCHWANS FOOD SERVICE	54.05	74.000.00
	N					RICH PRODUCTS CORPORATION	61.86	74,232.00
	N					SA PIAZZA & ASSOCIATES LLC	63.69	76,428.00
	N					*S AND F FOODS INC		
	N		PIZZA CHEESE WEDGE. LESS THAN 435 MG OF	300	CS	CONAGRA FOODS	49.00	14,700.00
			SODIUM FOR 2M/MA & 2 WGR SERVING			INCORPORATED		
	Y					*NARDONE BROS BAKING CO INC		
	N				*SCHWANS FOOD SERVICE			
	N					RICH PRODUCTS CORPORATION	78.92	23,676.00
	N					SA PIAZZA & ASSOCIATES LLC	84.79	25,437.00
	N					*S AND F FOODS INC		
85	Y		(USDA-P) PIZZA PEPPERONI WEDGE, PEPPERONI AND 100% MOZZARELLA. LESS THAN 670 MG OF	2,000	CS	*NARDONE BROS BAKING CO INC		
	N		SODIUM FOR 2M/MA & 2 WGR SERVING			CONAGRA FOODS	46.18	92,360.00
	''					INCORPORATED	.0.20	32,000.00
	N					*SCHWANS FOOD SERVICE		
	N					SA PIAZZA & ASSOCIATES LLC	70.85	141,700.00
	N					*S AND F FOODS INC		,
	N	MOZZARELLA. LESS THAN 670 MG OF SODIUM FOR 2M/MA & 2 WGR SERVING	500 CS	CS	CONAGRA FOODS	56.20	28,100.00	
	'`		·		C3	INCORPORATED	30.20	20,100.00
	Y				*NARDONE BROS BAKING CO INC			
	N					*SCHWANS FOOD SERVICE		
	N					SA PIAZZA & ASSOCIATES LLC	89.20	44,600.00
	N					*S AND F FOODS INC		
86	Υ		(USDA-P) PIZZA BREAKFAST, WHOLE GRAIN,	800	CS	*SCHWANS FOOD SERVICE		
	Y-ALT		COUNTRY GRAVY, SAUSAGE AND 100% MOZZARELLA, MUST CONTRIBUTE AT LEAST 1 WGR			*NARDONE BROS BAKING CO		
	N	SDC	& 1 M//MA PER SERVING, BULK. LESS THAN 300			INC CONAGRA FOODS	55.26	44,208.00
	IN	MG OF SODIUM FOR 2 M/MA & 1 WGR			INCORPORATED	33.20	44,200.00	
	N	8PS				SA PIAZZA & ASSOCIATES LLC	79.23	63,384.00
	Y		PIZZA BREAKFAST, WHOLE GRAIN, COUNTRY	200	CS	*SCHWANS FOOD SERVICE		
	Y-ALT		GRAVY, SAUSAGE AND 100% MOZZARELLA, MUST			*NARDONE BROS BAKING CO		
	N.		CONTRIBUTE AT LEAST 1 WGR & 1 M//MA PER			CONACRA FOODS	C0.00	12 (00 00
	N		SERVING, BULK. LESS THAN 300 MG OF SODIUM			CONAGRA FOODS INCORPORATED	68.00	13,600.00
	N		FOR 2 M/MA & 1 WGR			SA PIAZZA & ASSOCIATES LLC	91.02	18,204.00

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	иом	Supplier	Price	Extended Price
87	Υ		(USDA-P) GARLIC CHEESE FRENCH BREAD, 100%	2,500	CS	*NARDONE BROS BAKING CO		
			MOZZARELLA CHEESE, WHOLE GRAIN. LESS THAN			INC		
	N	8PS	450 MG OF SODIUM FOR 2M/MA & 2WGR			*SCHWANS FOOD SERVICE		
	N		·			*S AND F FOODS INC		
	Y		GARLIC CHEESE FRENCH BREAD, 100%	300	CS	*NARDONE BROS BAKING CO		
			MOZZARELLA CHEESE, WHOLE GRAIN. LESS THAN			INC		
	N		450 MG OF SODIUM FOR 2M/MA & 2WGR			*SCHWANS FOOD SERVICE		
	N		·			*S AND F FOODS INC		
88	N	4NS	(USDA-P) PIZZA BREAKFAST, WHOLE GRAIN,	2,000	CS	*SCHWANS FOOD SERVICE		
	Y		TURKEY SAUSAGE AND WHITE COUNTRY GRAVY,			*NARDONE BROS BAKING CO		
			IW. MUST CONTRIBUTE AT LEAST 1 M/MA &			INC		
	N	8PS	1WGR_NARDONF ITEM # MROWTSG100 OR			SA PIAZZA & ASSOCIATES LLC	96.96	193,920.00
	N		PIZZA BREAKFAST, WHOLE GRAIN, TURKEY	200	CS	*SCHWANS FOOD SERVICE		
	Υ		SAUSAGE AND WHITE COUNTRY GRAVY, IW. MUST			*NARDONE BROS BAKING CO		
			CONTRIBUTE AT LEAST 1 M/MA & 1WGR.			INC		
	N		NARDONF ITEM # MROWTSG100 OR SIMILAR LESS			SA PIAZZA & ASSOCIATES LLC	110.06	22,012.00
89	N	4NS	(USDA-P) BREAKFAST BAGEL, TURKEY SAUSAGE	1,000	CS	*NARDONE BROS BAKING CO		
			AND 100% MOZZARELLA, WHOLE GRAIN RICH, IW,			INC		
	Y		MUST CONTRIBUTE AT LEAST 1M/MA AND 1 WGR.			*SCHWANS FOOD SERVICE		
	N	8PS	LESS THAN 380 MG OF SODILIM FOR 1M/MA & 1			INTEGRATED FOOD SERVICE	73.62	
	N		BREAKFAST BAGEL, TURKEY SAUSAGE AND 100%	300	CS	NARDONE BROS BAKING CO INC	58.32	17,496.00
			MOZZARELLA, WHOLE GRAIN RICH, IW, MUST					
	Y		CONTRIBUTE AT LEAST 1M/MA AND 1 WGR. LESS			*SCHWANS FOOD SERVICE		
	N		THAN 380 MG OF SODIUM FOR 1M/MA & 1 WGR			INTEGRATED FOOD SERVICE	76.00	,
90	Y		(USDA-P) HOT DOG, BEEF, CHILI & CHEESE, WGR,	100	CS	INTEGRATED FOOD SERVICE	74.72	7,472.00
			IW. MUS CONTRIBUTE 2 WGR, 2M/MA PER					
			SERVING					
	Y		HOT DOG, BEEF, CHILI & CHEESE, WGR, IW. MUS	25	CS	INTEGRATED FOOD SERVICE	79.20	1,980.00
			CONTRIBUTE 2 WGR, 2M/MA PER SERVING					

						*CONFIDENTIAL		
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
91	Υ		(USDA-P) PUPUSAS, BEAN & CHEESE, WGR. MUST CONTRIBUTE AT LEAST 2 WGR & 2 M/MA PER SERVING	1,800	CS	DEL REAL LLC	43.14	77,652.00
	Y		PUPUSAS, BEAN & CHEESE, WGR. MUST CONTRIBUTE AT LEAST 2 WGR & 2 M/MA PER SERVING	200	CS	DEL REAL LLC	48.91	9,782.00
92	N	4NS	(USDA-P) SANDWICH, GRILLED CHEESE, WGR, IW.	100	CS	*S AND F FOODS INC		
	N	1NL	MUST CONTRIBUTE 2 WGR 2M/MA PER SERVING.			INTEGRATED FOOD SERVICE	51.20	5,120.00
	Y					TASTY BRANDS LLC	72.27	
	N					PRAIRIE MILLS BAKING COMPANY LLC	80.43	8,043.00
	N		SANDWICH, GRILLED CHEESE, WGR, IW. MUST	25	CS	*S AND F FOODS INC		
	N		CONTRIBUTE 2 WGR 2M/MA PER SERVING.			INTEGRATED FOOD SERVICE	69.12	
	Y					TASTY BRANDS LLC	95.67	
	N					PRAIRIE MILLS BAKING	107.32	2,683.00
						COMPANY LLC		
93	Y		(USDA-P) TAMALES, CHICKEN & CHEESE, WGR,	1,500	CS	MCI FOODS INC	74.06	111,090.00
	N		MUST CONTRIBUTE AT LEAST 1 WGR & 1 M/MA			*INTERNATIONAL FOODS		
			PFR TAMAI F			SOLUTIONS INC	•	
	Y		TAMALES, CHICKEN & CHEESE, WGR, MUST	250	CS	MCI FOODS INC	78.62	19,655.00
	N		CONTRIBUTE AT LEAST 1 WGR & 1 M/MA PER			*INTERNATIONAL FOODS SOLUTIONS INC		
94	Y		(USDA-P) BREAKFAST STICK, BEEF & CHEESE, WGR. MUST CONTRIBUTE 1M/MA & 1 WGR, IW.	1,000	CS	INTEGRATED FOOD SERVICE	68.20	68,200.00
	Y		BREAKFAST STICK, BEEF & CHEESE, WGR. MUST	300	CS	INTEGRATED FOOD SERVICE	74.50	22,350.00
95	Y		CONTRIBUTE 1M/MA & 1 WGR, IW. (USDA-P) BREAKFAST BURRITO, WGR, CHEESE &	850	CS	MCI FOODS INC	51.51	43,783.50
93	N		COOKED SAUSAGE CRUMBLES, PORK FREE, WHOLE	830	CS	ACR FOSTER INTERMEDIATE	91.53	
	"		GRAIN TORTILLA. PROVIDES AT LEAST 1M/MA & 1			GROUP LLC	31.33	77,800.50
	Y		BREAKFAST BURRITO, WGR, CHEESE & COOKED	200	CS	MCI FOODS INC	55.81	11,162.00
	N N		SAUSAGE CRUMBLES, PORK FREE, WHOLE GRAIN	200	CS	ACR FOSTER INTERMEDIATE	95.55	
	''		TORTILLA, PROVIDES AT LEAST 1M/MA & 1 WGR.			GROUP LLC		13,110.00
96	Y		(USDA-P) BREADED FISH STICKS OR NUGGET, WGR.	1,500	CS	HIGH LINER FOODS USA INC	40.40	60,600.00
			MUST CONTRIBUTE AT LEAST 2M/MA & 1 WGR PER SERVING					
	Y		BREADED FISH STICKS OR NUGGET, WGR. MUST	200	CS	HIGH LINER FOODS USA INC	40.40	8,080.00
			CONTRIBUTE AT LEAST 2M/MA & 1 WGR PER SERVING					
97	Y		(USDA-P) BREADED FISH PATTY, WGR. MUST	200	CS	HIGH LINER FOODS USA INC	30.49	6,098.00
			CONTRIBUTE AT LEAST 2M/MA & 1 WGR PER SFRVING					
	Y		BREADED FISH PATTY, WGR. MUST CONTRIBUTE	50	CS	HIGH LINER FOODS USA INC	30.49	1,524.50
00			AT LEAST 2M/MA & 1 WGR PER SERVING	000	CC	DICH DRODUCTS CORDORATION	22.05	26,262,62
98	Y		(USDA-P) DONUT, HOLES, YEAST, WGR, BULK. MUST CONTRIBUTE 2WGR PER SERVING	800	CS	RICH PRODUCTS CORPORATION	32.95	26,360.00
	Y		DONUT, HOLES, YEAST, WGR, BULK. MUST	100	CS	RICH PRODUCTS CORPORATION	34.23	3,423.00
			CONTRIBUTE 2WGR PER SERVING					